                                               AGE-RELATED

                                                    EXPECTATIONS

	ADDITION  


	Consolidate / extend Y5 including:

Three numbers

Decimals up to 3dp (context: measures)


	Number line

3.243 km + 18.07 km =


	No number line

3.243 km + 18.07 km

18.07 + 3        = 21.07

21.07 + 0.2     = 21.27

21.27 + 0.04   = 21.31

21.31 + 0.003 = 21.313


	Partitioning

3.243 km + 18.07 km

3 +    18 =      21

0.2 +   0.0 =     0.2

0.04 + 0.07 =   0.11

0.003 + 0    =   0.003  
	Expanded vertical

         3.243

  +   18.070

        

         0.003

         0.110

         0.200

       21.000
	Compact vertical
         3.243

   +  18.070

        

       21.313

       1    1
	(as above)
	Integer / decimal (1dp) + Integer / decimal (1dp)

	
	
	
	
	
	
	
	
	

	SUBTRACTION    


	Consolidate / extend Y5 including:

Decimal to 3 dp relating to measures

	Recognise when one written method is more efficient.  (See Y5 methods of recording) 

· There was 2.5 litres in the jug.  Stuart drank 385 ml.  How much was left?

· 18.07 km – 3.243 km


	(as above)
	Integer / decimal (1dp) – Integer / decimal (1dp) 

	
	
	
	
	

	MULTIPLICATION


	Use efficient methods:

Integer x U (eg 2307 x 8)

Decimal x U (eg 31.6 x 7)

TU x TU

HTU x TU


	Grid method

[image: image1.wmf]
	Expanded vertical

2327 x 8     (estimate: 2300 x 10 = 23 000)

                         2327

                     x        8

                             
                             56

                           160

                         2400

                       16000

                       
                       18616
	Compact vertical
[image: image2.wmf]
	Use facts up to 10 x 10 to derive facts involving multiples of 10 / 100     (eg 80 x 30) and decimals (eg 0.8 x 7)

Derive squares of numbers to 12 x 12

Derive corresponding squares of multiples of 10
	TU x U

U.t x U

Integer x 1000 / 100 / 10 / 0.1 / 0.01

	
	
	
	
	
	
	

	DIVISION
	Use efficient methods:

Integer ( U (eg 123 (7)

Decimal ( U (eg 27.6 (8)

HTU ( TU


	Short’ division supported by jottings

(estimate: 315 ( 15 = 21)

      __ 2 4
16   (the first few multiples of 16)

16 ) 3 8 64

32      

48

64


	‘Short’ division

43 .4 ( 7  

(estimate: 42 ( 7 = 6)

                            6 .2

                     7   43 .’4
	‘Long’ division

560 ( 24  (estimate: 550 ( 25 = 22)

[image: image3.wmf]
	Derive ( facts involving multiples of 10 / 100         (eg 240 ( 30) and decimals   (eg 4.8 ( 6)

 
	Divide using factors of the divisor (eg (15 by (5 and then (3)

TU ( U

U.t ( U

Integer ( 1000 / 100 / 10



	
	
	
	
	
	
	


  Rapid Recall





  Mental Calculation
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